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ERERE %70 35.1| m3 35.13
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JE £ m 70.0 m 3.0 m
£ # B K T+ & B {3 "R HE Y HE ] i
[#HI~REIE] (4B A~ {REIB])
LR U B As isenp T m | 2.00%70.00 140.00 | 2.00%3.00 6.00 146.00 158.00  |&HEERRUIET
THEERRIE HITEA As,Con iomp | m2 | 0.55%70.00 38.50 | 1.00%3.00 3.00 41.50 4750  |SEMIBHIFEA
AsHRIEHK 4tE 7.3km | m3 | 0.55%0.05%70.00 1.93 | 1.00%0.05%3.00 0.15 2.08 238 |AsEhEff 7.3km
AsFEH IR x2.35 Astf |t 1.93%2.35 4.54 | 0.15%2.35 0.35 4.89 560  |AsEEH LI
HERIEAITEA 2 0.28BH | m3 | (1.020-0.05)%0.55%70.00 37.35 | (1.020-0.05)%1.00%3.00 2.91 40.26 4788  |MEHIEEIFEA
T 5E i - s 4tE 6.0km | m3 | HEHHEEI*1.2 44.82 | HHARHAI*1.2 3.49 48.31 57.46  |JX1iEH-A0%H  6.0km
HIERL g 0.28BH | m3 | (0.720%0.55-0.011-0.000)%70.00 26.95 | (0.720%1.00-0.011-0.000)*3.00 2.13 29.08 3513  |#HERL i1}
TRRET ARC-40(RC) m TRRET
TRRET ARC-40(RC) t=15cm | m2 | 0.55%70.00 38.50 | 1.00%3.00 3.00 41.50 4750 | TFHERBIT t=15¢cm
LTRERET M-40 m2 FrRERET
LRERET M-40 t=12cm| m2 | 0.55%70.00 38.50 | 1.00%3.00 3.00 41.50 4750 | EFERRMET t=12cm
REIRT QHHLEAs t=3cm | m2 | 0.55%70.00 38.50 | 1.00%3.00 3.00 41.50 4750 |{REIHT t=3cm
€3 {:)] [##18]
LR U As ismu | m | 2.00%70.00 140.00 | 2.00%3.00 6.00 146.00 158.00  |&HEERR UMY
THEERRIE HITEA As,Con =10met k| m2 | (0.55+1.45)%70.00 140.00 | (1.00+0.60)*3.00 4.80 144.80 154.40  |SAZERRIEHITEA
TREEIE HIEMEL m2 | (0.55+1.45)%70.00 140.00 | (1.00+0.60)*3.00 4.80 144.80 154.40 | FEERIE
xRET QEHEAs t=5cm | m2 | (0.55+1.45)%70.00 140.00 | (1.00+0.60)*3.00 4.80 144.80 15440 |REL t=5cm
RETL m2 ®ET
AsHRIE K 4tE 7.3km | m2 | (0.55%0.03+1.45%0.05)%70.00 6.23 | (1.00%0.03+0.60%0.05)*1.50 0.09 6.32 6.68  |AsEREHR 7.3km
AsFEH IR x2.35 Asti t | 6.23%2.35 14.64 | 0.18%2.35 0.21 14.85 15.04  |AsBEAHALIR
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IR I As =15m | m [2.00%6.00 12.00 12.00 158.00
S IRIEEITRA As,Con e=10mt | m2 |1.00%6.00 6.00 6.00 47.50
B HRAE HI FEHA T 0.28BH | m3 [(1.320-0.05)%1.00%6.00 7.62 7.62 47.88
BEIERL Iy 0.28BH | m3 [(1.020%1.00-0.011)%6.00 6.05 6.05 35.13
TERET ARC-40(RC) m2
TERET ARC-40(RC) t=15cm m2 [1.00%6.00 6.00 6.00 47.50
LTERET M-40 m2
LERET M-40 t=12cm| m2 |1.00%6.00 6.00 6.00 47.50
REIRT QM EAs t=3cm | m2 |1.00%6.00 6.00 6.00 47.50
T L& - 05 ME 6.0km | m3 |HEHEHEEI*1.2 9.14 9.14 57.46
AsERE R 4tEE 7.3km = m3 |1.00%0.05%6.00 0.30 0.30 2.38
AsBEtfA0IE x 2.35 Asti t  [0.30%2.35 0.71 0.71 5.60
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LR TR As t=15m T m |2.00%6.00 12.00 12.00 158.00
SRR HITEIA As,Con =10t | m2 [(1.00+0.60)%6.00 9.60 9.60 154.40
TREEIE WIERMAEL m2 [(1.00+0.60)x6.00 9.60 9.60 154.40
*®ETL QEHEAs t=5cm = m2 |(1.00+0.60)%6.00 9.60 9.60 154.40
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AsTIE i 4tE 7.3km | m2 [(1.00%0.03+0.60%0.05)*6.00 0.36 0.36 6.68
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SRR I As =15mA T m | 2.00%4.00 8.00 | 2.00%4.00 8.00 | 2.00%4.00 800 | 24.00
SRR U B Co t=15mElF| m
SR HITRA As,Con =1omuF| m2 | 0.55%4.00 2.20 | 0.55%4.00 2.20 | 0.55%4.00 2.20 6.60
S RRIEHITEA As,Con t=10emi@x| m2
AR HITEIA T8 0.28BH | m3 | (0.760-0.05)%0.55+4.00 1.56 | (0.760-0.05)%0.55%4.00 1.56 | (0.760-0.05)%0.55%4.00 1.56 4.68
HWIEREL 173 0.28BH | m3 | (0.460%0.55-0.003-0.000)*4.00 1.00 | (0.460%0.55-0.003-0.000)*4.00 1.00 | (0.460%0.55-0.003-0.000)*4.00 1.00 3.00
TRERET ARC-40(RC) t=15cm| m2 | 0.55%4.00 2.20 | 0.55%4.00 2.20 | 0.55%4.00 2.20 6.60
FE®RET M-40 t=12cm| m2 | 0.55%4.00 2.20 | 0.55%4.00 2.20 | 0.55%4.00 2.20 6.60
REIBT QHHLEAs t=3cm | m2 | 0.55%4.00 2.20 | 0.55%4.00 2.20 | 0.55%4.00 2.20 6.60
LB 05 4tE 6.0km | m3 | HEHELHRAI*1.2 1.87 | MR EI*1.2 1.87 | #HIEHEI*1.2 1.87 5.62
AsiE 4t 7.3km | m3 | 0.55%0.05%4.00 0.11 | 0.55%0.05%4.00 0.11 | 0.55%0.05%4.00 0.11 0.33
AsBEH ALZE % 2.35 Astf | t | 0.11%235 0.26 | 0.11%2.35 0.26 | 0.11%2.35 0.26 0.78
[##18]
LRI As =1sempl T m | 2.00%4.00 8.00 | 2.00%4.00 8.00 | 2.00%4.00 800 | 2400
SHEERRIEAITEA As,Con =10mpt T, m2 | (0.55+0.60)%4.00 4.60 | (0.55+0.60)*4.00 4.60 | (0.55+0.60)*4.00 460 | 13.80
TREEE WIEMEL m2 | (0.55+0.60)%4.00 4.60 | (0.55+0.60)%4.00 4.60 | (0.55+0.60)%4.00 460 | 13.80
=BT QFEHEAs t=5cm | m | (0.55+0.60)*4.00 4.60 | (0.55+0.60)%4.00 4.60 | (0.55+0.60)%4.00 460 | 1380
AsiE 4t 7.3km | m2 | (0.55%0.03+0.60%0.05)*4.00 0.19 | (0.55%0.03+0.60%0.05)%4.00 0.19 | (0.55%0.03+0.60%0.05)%4.00 0.19 057
AsBEH Q038 X 2.35 Asif t | 0.19%2.35 0.45 | 0.19%2.35 0.45 | 0.19%2.35 0.45 1.34
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SRR As 15T m | 2.00%2.00 400 | 2.00%2.00 4.00 | 2.00%2.00 400 | 1200
S RRIEHITEA As,Con t=10mplF| m2 | 1.60%2.00 3.20 | 0.55%1.50 0.83 | 1.60%2.00 3.20 7.23
IR I REA TR 0.28BH | m3 | (0.960-0.05)%1.60%2.00 2.91 | (0.960-0.05)%1.60+2.00 2.91 | (0.960-0.05)%1.60%2.00 2.91 8.73
ﬁém@ﬁb HE+ 0.28BH m3 | (0.660%1.60-0.003-0.000)%2.00 2.11 | (0.660%1.60-0.003-0.000)*2.00 2.11 [ (0.660%1.60-0.003-0.000)*2.00 2.11 6.33
TREBRET ARC-40(RC) m2
TRRET ARC-40(RC) t=15cm| m2 | 1.60%2.00 3.20 | 1.60%2.00 3.20 | 1.60%2.00 3.20 9.60
LRERET M-40 m2
LtE®RET M-40 t=12cm| m2 | 1.60%2.00 3.20 | 1.60%2.00 3.20 | 1.60%2.00 3.20 9.60
REBT QFLEAs t=3cm | m2 | 1.60%2.00 3.20 | 1.60%2.00 3.20 | 1.60%2.00 3.20 9.60
T 18- 5y 48 6.0km | m3 | HEHAEEI*1.2 349 | HmIREI*1.2 3.49 | HEMIEAI*1.2 349 | 1048
AsiRE i HE 7.3km | m3 | 1.60%0.05%2.00 0.16 | 1.60%0.05%2.00 0.16 | 1.60%0.05%2.00 0.16 0.48
AsBEH LR X 2.35 As# |t [ 0.16%2.35 0.38 | 0.16%2.35 0.38 | 0.16%2.35 0.38 1.14
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[HX] BEEXE | PEP®50 | PEP®50 | PEP ¢ 50
ERRED 3.0 3.0 3.0 9.0
B #hh 1.0 1.0 1.0 3.0
T N O% i N
mu s [T 100%50 | 1@ 1 1 1 3
EF-S 50 & 1 1 1 3
s PEP 50 m 4.0 4.0 4.0 12.0
it 4 a5 - |EFS 50 1@ 1 1 1 3
PCMG-S 50 & 1 1 1 3
PERHE L — b m 1.0 1.0 1.0 3.0
BRI RREY &l 0.0
B R & 1 1 1 3
mapmmT  |LAAP D 50 1@ 1 1 1 3
Bi#fF+ry7” |50 & 1 1 1 3




